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Section 1 - General Knowledge

1) Which of the following periods in India is termed as 1) 9*a # F&fofed & & i ®F F= 1 F7 "SHaen

the 'period of population explosion'? e &7 st Fgr SEar g?
A) 1981-2011 A) 1981-2011
B) 1951-1981 B) 1951-1981
C) 1901-1921 C) 1901-1921
D) 1921-1951 D) 1921-1951

2) This fungi breaks down cellulose, lignin and 2) 7g Fa% dq@s, forfue s widtw F7 fFaeq F=ar g
proteins which releases essential carbon used by = #z S T sTW BEm s= AT AR

many organisms. ldentify the class of fungi. AT FHTT TF 2AT &, SHFATF AT WT 6T A0 F
A) Parasites TEAT FL|
B) Saprophytes A) TR
C) Symbionts B) #rsrera=e
D) Predacious C) fereertaies
D) fr=foree

3) At the Gymnastics World Cup 2018 in Melbourne, 3) #ea ¥ ratorT foremees o€ #92018 ¥, et
who among the following created history by becoming & st 7 ’renfees o= 9 & =7 gz« staq

the first Indian gymnast to win an individual medal at FTT TgAT AT TS TST8FE T2 S(AgTE T TTAT?
a Gymnastics World Cup? A) FIET ET

A) Meghana Reddy

B) =roT FHTHT
B) Dipa Karmakar C) wurta AT
C) Pranati Nayak D) ST%oTr 5T 2T

D) Aruna Budda Reddy
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4) In Jawaharlal Nehru's words, who among the 4) STETETATA 98% % 9I&al #, WM& # & &6 i
following is known as the 'linchpin of the '\¥TT FT TaH WgeaqUl AT (M=) F A9 & ST

government'? STaTg?

A) Prime Minister A) TITTHT
B) Defence Minister B) T&T ®T
C) Finance Minister C) A=t
D) Council of Ministers D) wHrafvee

5) The Enactus World Cup 2017, an annual event 5) %= a7 F9, FHAT 9 * oW FrafE=maT siw
featuring the best social innovation projects created st FT THT T a9 7= 5 TIAY ATHTOE AATAN
by the top university and college teams from around TRFTSHTSA T THTIT TF ATTHF AT g, TFad q7%

the globe was won by F9 2017 fFwtertea o & e gy star 1=r?
A) Enactus Team India A) TFeT 1 AT

B) Enactus Team France B) U= W WiH

C) Enactus Team USA C) TR E1H T TST ATLHT

D) Enactus Team China D) TAe=d W Hi

6) B. R. Ambedkar described which fundamental right 6) =T, ==, sra=se 7 FF Hitors At 1 AT
as the 'heart and soul' of the Indian Constitution? HAGTT % 'S8T ST AT 6 FTH q(97q 61?2

A) Right to Equality A) THTAT T ATTFTT
B) Right to Education B) foreaT =t stfarsrTe
C) Right to Constitutional Remedies C) T STAT T ATAFTT

D) Right to Freedom D) FF=aT T ATAHTT
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7) The Hindu Widows' Remarriage Act was enacted 7) ¥ 2T F9a1 ¥ omaw % d&q 7 aw B3
in which year under the East India Company rule?  TEreaT ({3 aTg ATEaw FT AT ==Atwa 67T =T 41?2

A) 1888 A) 1888
B) 1876 B) 1876
C) 1859 C) 1859
D) 1856 D) 1856
8) What is the function of enzyme "Lipase"? 8) USIT=H "ATZUST" T T3 F4T 52
A) Conversion of Insulin into fructose A) T T FFe € § a0
B) Breaks up peptones into amino acids B) T=ivd T UHHAT UHE § Foea T aqars
C) Conversion of Maltose into glucose C) W2 T TS § T
D) Catalyzes fats into fatty acids and glycerine D) | & et UiHe Y T 8 Sod #ar g

9) Which state of India has registered the lowest sex 9) SFITIRT AT 2011 # 0-6 AW AT A | TTH FH [T

ratio in the age group of 0-6 year in the census year AT HTEA & [6H T 7 &7 (HAT 572
20117

A) Haryana A) gt

B) Arunachal Pradesh B) =0T T=9T

C) Kerala C) FT

D) Uttarakhand D) STrEE

10) Who introduced the Dual system of Government 10) aTTeT § g4t ATTH SOTEAT T S[&eATT T 12

in Bengal?

A) Lord Cornwallis A) T FIAATOE
B) Robert Clive B) W< FT=T
C) Lord Dalhousie C) @TE TGS

D) Warren Hastings D) A g


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Section 2 - Logical Reasoning

11) What is the next term in the given series? 11) & TS AT B STAT HEAT FAT 52
The series is 40320, 5040, 720, 120, ? gt g: 40320, 5040, 720, 120, ?
A) 100 A) 100

B) 24 B) 24

C) 12 C) 12

D) 75 D) 75

12) 40% of the population of a village migrated to 12) T T T STEEAT FT 40% ART ATHAT 6T TATq T
different cities in search of jobs. 10% of the remaining 9= g0 § TN &1 TATI AT STHEEATH T 10%

population died due to floods. The present population T #i¥ JTE ¥ FTET T ET T | TFHTH ST&AT 1,08,000

is 1,08,000. The original population was: S| T STEEAT 4T AT7?
A) 200,000 A) 200,000
B) 185,185 B) 185,185
C) 195,195 C) 195,195
D) 248,000 D) 248,000

13) Select the option that will make the second pair 13) 38 T3 FT FIT FX ST T ST Tl TgAT ST

analogous to the first pair. F TUET TATUAT|

Good : Care :: Bad : ? F=IT : S 2 G ?
A) Work A) FTH

B) Abuse B) TTetT

C) Compassion C) srgsar

D) Help D) wE=


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

14) Pointing to a man in the photograph, Vijay said, 14) = & U% =<F & ST 9T T2 g0 (&1 7
"He is the father of my mother". How is Vijay related "ag ¥<1 9TaT & fUar " O 5@ =~ & &g a9

to that man? qTaT 572

A) Son A) T

B) Brother B) w2

C) Grandson C) qamar

D) Uncle D) ==t

15) What is the next term in the given series? 15) & T AT B STAT HEAT FIAT 52
The series is 31, 155, 310, 1550, ? %I@T'IT% 31, 155, 310, 1550, ?
A) 3590 A) 3590

B) 2200 B) 2200

C) 2190 C) 2190

D) 3100 D) 3100

16) Select the option that will make the second pair 16) 38 TEFed FT FJT FT ST THALL ST Fl TgAT ST

analogous to the first pair. F AHET AT
Lawyer : Court:: Soldier : ? T ; STETAd o " ?
A) Playground A) B FT HETH

B) Water B) =Tt

C) School C) ==

D) Army D) &7
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17) How many semi-circles are there in the following 17) =TT smsfa & Fra+ seiga 82

figure?

A1 A) 1
B) 2 B) 2
C)3 C)3
D)0 D)0

18) Three of the four words mentioned below belong 18) 1= f&T 7T =TT oreat & & 19 U & J0T AT AT F 5
to the same category or class. Find the odd one out. Z7® & FTH ST T

A) Poem A) Trug
B) Adjective B) T=Sifaee
C) Adverb C) u=ad
D) Noun D) AT3

19) Nisha paid %400 in a restaurant. Neerav paid 19) T 7 T ¥¥er<e § T 400 FT a1 AT g ¥
3/4th of the money that Gauri paid. Gauri paid  960. YT FTRT AT 6T T &7 3 3/43 T T AT =62
If Nisha paid Z X less than Neerav, then the value of =T 7 960 FT STATH T AT| ST e 7 7 7 T X 57

"X" is ST 63T a7 "X" T H19 FAT 572
A) 420 A) 420
B) 360 B) 360
C) 460 C) 460

D) 320 D) 320
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20) At present, half of the age of Reena is 2 times the 20) =8 TH=, AT T AT FT SATET, IHF FAA (F & il

age of her cousin Nikhil. If Nikhil was 10 years old 2 T FT 2 AT g (3 2 9 qgar M it &g 10 77 =,
years ago, then Reena's present age in years is AT AT § AT 6T =7 97 g a1 572

A) 40 A) 40
B) 48 B) 48
C) 24 C) 24
D) 20

D) 20
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Section 3 - General English and Comprehension

21) Choose the correct word substitute for the 25) Choose the meaning of the italicized idiom

following sentence: used in the given sentence.

An extreme or irrational fear of heights

The judge fast tracked the judgement as he
A) Algophobia

realised that the case was a high profile one.

B) Acrophobia A) Explained
C) Agoraphobia B) Accelerated
D) Autophobia C) Thwarted

D) Summarised

22) ldentify the part of the sentence that has an
error:

The girl danced so well so the crowd cheered
loudly.

A) cheered loudly
B) danced so well
C) so the crowd

D) The girl

23) Identify the synonym for the word - Rejoinder
A) Break

B) Answer
C) Join
D) Glue

24) ldentify the Antonym for the word - Fortitude
A) Timidity

B) Pride

C) Attitude

D) Courage
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Section 4 - General Hindi

26) THT-1 % T 915% Tl A1l | I faenw s | 29) =% =T it I S or-
e RN I 1 %"I
gt (e a1e) [gftn (e =) A) T=T
1. FT a. 9% s
: B) wfarT
2. 9Ta® b TEE
3. T C. THET C) &reT
4. 91T d. Teea D)?jﬁ_cﬁ'

A) 1-a, 2-b, 3-c, 4-d
B) 1-d, 2-b,3-c, 4-a

30) Fwfarfea & & Fir a7 =i’ otex FT = THaT=
C) 1-b, 2-a, 3-d, 4-c

T &2
D) 1-c, 2-d, 3-a,4-b A) ToAT
B) &=
C) e
27) F5F ¥ {30 T 3t F AT O qEr A A D) A&

AT T T T 61 Qi HIor -
T FT 9 S ° Rea-Fea &= 191, 97 O 8 30

T A AT PR SRR E, |
(T TR & gt ZAT & o ST
A) 3 I qH AT

B) STEWTH & RRT @S (et

C) ST FeAT AT IATAT

D) W AT T, T A1 F&T

28) AT I AT TAATH 572
A) TIETEF

S GECEIRET

C) ===

D) T=waT=%
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Section 5 - Basic knowledge of Computer

31) In Windows XP, which combination of keys is 31) TA=TSIXP ®, e | o1 wI=al &l €T &I H geT
used for deleting a file permanently from a computer? # T fer "' T S=T T SITaT 82

A) Shift + Ctrl A) Shift + Ctrl

B) Shift + Delete

C) Alt + Ctrl

B) Shift + Delete
C) Alt + Ctrl

D) Alt + Delete D) Alt + Delete

32) Which of the following fonts is used as default font 32) MS 7= 2016 ¥ 5% T & =t AT Hive [THice Wi %

in MS Word 20167 T H IUANT AT STaT 87
A) Arial A) TR

B) Calibri B) shfererdt

C) Times New Roman C) ZTeT = AT

D) Verdana DEEEL

33) In M'S Word 2016, in which type of mode used for 33) ATEw A= a5 2016 ¥, 3 1T & AT= 7 [T
editing English language text, typing new characters \TST &&= T F2 o forT S92t T straT & o

will replace any existing characters to the right side of AT STeAT T 2129 FXA I A5 el T WISET AT (FiaFe<)

the insertion point? THIA Uiz & T A7 o FT 3aT 672
A) Retype mode A) T e

B) Insert mode B) T¥= HIT

C) Overinsert mode C) A=ze qIe

D) Overtype mode D EIEECAREE: 1
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34) In CSMA/CA, what does RTS stand for? 34) CSMA/CA® RTS FT T 1 872
A) Retransmit the Signal A) HEHT I FATRT FY

B) Request to Send B) 9=t  forw fRaes

C) Reserved to Send C) 9= & forw siefera

D) Resend the Signal D) = T Fhe & 9ot

35) Which of the following Credit Card Fraud 35) Fafori®m & & Fiq AT H(2e F1 Wi RERE T
Detection Techniques marks a person as a fraudster T =< FT eEETST & ®H (=ieqd Fa1 5 I THar
if many orders are placed to be delivered at the same a4 9% RRefia<t & oM -3 FiZ= FTE 51T F5 A=<

address by different credit cards? e AT AT BT ?

A) Xcart A) XFTe

B) Pattern Detection B) f=w fRewe

C) Fraud Screening Detection C) W= ShifH T Reser
D) Card Watch D) FTE T+

36) In MS Word, by pressing which of the following 36) MS == #, Fwfafea & & o 'St Firaqaw T

key combination a page break can be inserted? THFGT Tl FATHL IST 5 SHE 64T ST THaAT8?
A) Ctrl + F1 A) Ctrl + F1

B) Shift + Enter B) Shift + Enter

C) Shift + F1 C) Shift + F1

D) Ctrl + Enter D) Ctrl + Enter

37) In MS Word, the Shortcut key Ctrl + i is used 37) THUH 7= ¥ oricwe "' Ctrl + i FT ST 36w STam

for/to: -»

A) Inserting a line break A) FATE 89 THE T2 o [0

B) make the selected text bold B) === o= =T Aiee famm & forg

C) Apply italic format to selected text C) #oteFe 7T g0 o= & {10 Z&fer Fide AR F34 &
D) Increase font size ferw

D) Wive AT T & {77
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38) Which of the following is required for process-to- 38) F=a: ¥ Yeds FI¥ ¥ THE-Z-ImaH f2efi=d F o

process delivery at each end in network? et ¥ & =17 sraeaw g2
A) Only port number A) FAT TS TEAT

B) Only IP address B) =<t IP 7aT

C) Neither IP address nor Port number C) T AT IP 9T 3T T &F Ire §&aT
D) IP address and Port number D) IP 94T ST aIe HweAr

39) Which of the following options displays the name 39) fraferaa & T a7 Ao Setre TaF= T TSR
of the web page in an Internet Explorer browser? T AT ST T ATH T&T97d F2aT1 872

A) Address bar A) TZH T
B) Menu bar B) AT AT
C) Status bar C) T=a a1
D) Title bar D) aTEea e

40) Which of the following devices is used to printvery 40) F=forem & & e STFor &7 9= 99 % 51T
large drawings or complex line art by mechanical #efi=T TTATATE & FRIST I TgT T2 AT FHl Folad AT AT

movement of a pen on a paper? 1 e 3 % forw e Srar 872
A) Ink jet Printer A) 3% 3= Tz

B) Scanner B) &A%

C) Line Printer C) @z ez

D) Plotter D) =Atex

41) Which of the following software collects 41) /& ® & FI7 AT ATFAIT FHET T SATAFILN THA
information from a computer and transmits it to Man- F7aT g ST T8 A9-39-% - F =91 d AT 572

in-the-middle?

A) Fork Bomb A) i T

B) Boot Sector Virus B) = HF=T ATAH

C) Memory Resident Virus C) #HTY IEe araeH

D) Spyware )RS I FERES
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42) QWERTY refers to:

A) Arrangement of hardware parts of a standard

computer or mobile devices

B) Arrangement of keys on a standard English

computer keyboard or typewriter

C) Arrangement of only function keys on a standard
English computer keyboard

D) Arrangement of only numeric keys on a standard
English computer keyboard

43) Which of the following options is an image and
graphics solution available in MS Word 20167

GET IT ON
Google Play

42) QWERTY ¥ & F2ar 8?2

A) FETT FHET AT ATSA TR & FTEAIT qTEH
AT HT

B) ¥=T SIS F2T FAIS AT (TR 9% At i
AT T

C) ¥=T S FTET FHATE T Fad FFHAT st 6T
FATAT T

D) ¥=< ISt FeT Fiare U Faa quivaw At
FATIT T

43) e & & FI7 97 THST 3T AT a1 MS
7= 2016 H 39T 57

A) Drop Cap A) T FT
B) Hard disk B) BT "%
C) Clipart C) fFr=me
D) WordArt D) T=3me

44) Which is a popular software used primarily for 44) f=gt, FEaziomeT, foreror wfatate=T, TaAr, e
creating documents such as letters, brochures, 3T BT+ BT AATHE STH STFLHE Tl AT 6 (0
learning  activities, tests, quizzes and students' HET T H FHId AT UF ATHIAT AIFEATL HT TEAHTA 63T

homework assignments? STaT 8?2

A) Paint A) 9=

B) MS Word B) MSaE
C) MS Access C) MS t=a=

D) Calculator

D) Fa%eT
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45) Which gateway is an intermediate solution 45) %t AT e The o 3 wicerhe e % f=9 1=

between the packet filter and the application WeTaeT AUTATTE?
gateway?

A) Stateful firewall

A) TETEA T
B) %z foreefiar
C) Circuit-level C) Irfehe st

D) Stateless firewall

B) Packet-filtering

D) Teeord HIEATA

46) Which of the following messages is broadcast by 46) forfem dser & & Fiw 7 F2er T DHCP Fmas

a DHCP client when it first attempts to connect to the FT=T THTRA T SITAT § ST FE Hed® o =4 T T2
network?

A) DHCPDiscover

T AT 272

A) DHCPDiscover
B) DHCPRequest

C) DHCPInform
D) DHCPOffer

B) DHCPRequest
C) DHCPInform
D) DHCPOffer

47) Computer Display is also called

A7) FHeX T2 T S FAT Fagl AT 8?
A) Multimedia Monitor Terminals (MMT) A) mieadizar giffex =ff=er (MMT)
B) Cathode Ray Tube (CRT) B) &=r= ¥ =17 (CRT)
C) Video Display Terminals (VDT) C) F itz feewr =fif=er (VDT)
D) Video distribution Units (VDU) D) # == efRzsgem == (VDU)

48) Which of the following I/O devices is a block 48) Fwfarfea & & w a7 /O RaTsw v soi Rawew

device? g7

A) Keyboard A) FarE
B) Tape drive B) TUIT=A
C) Mouse C)wrss

D) USB port

D) USB [
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49) Which of the following scanners looks similarto a 49) =T FI19 AT ST w99 7T it 978

photocopier machine and it consists of a box &@AT g T THH TF (T AT & SEH 0% 9T TH

containing a glass plate on its top and a lid that covers TATH =i 3ii¥ U 28 AT & ST TATH =Ie Tl THar g2
the glass plate?

A) Laser A) TS

B) Flatbed B) wiedE
C) Inkjet C) T

D) Dot matrix D) =t #fes

50) What is the mode of an MS Excel workbook, if it 50) MS s FT HI= F4T &, 3T I8 Taa 97 F a719-
can be opened in Excel 97 as well as in Excel 2003? &7 Taaer 2003 § HT @It ST TAT 52

A) Compatibility mode A) FHEfIE T 7E
B) Comprehensive mode B) wiwgaa ors
C) Comparability mode C) #utfatardt e

D) Common mode D) FaT I
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Section 6 - Electrical Engineering

51) LNG is stored and transported in insulated low 51) LNG =T T3=[ el 7 ATIHTT AT Hed< § G0TaT

temperature containers. LNG stands for T STTaT ST afatad 63 Sat g1 LNG 7 907 =9 #31
?

A) Liquid nitrogen gas A) ot AT e

B) Liquefied natural gas B) ferfarrre= a7t =

C) Low nitrogen content gas C) AT ATZE IS Fee I

D) Liquid natural gas D) ferfare J=eer =

52) The maximum rate at which nearly error-free data 52) a8 STIFa® &% O 9T (AT e Ied o7 a5 0%
can be theoretically transmitted over a ¥TH UF A =I° U TATRA AT ST TF4AT 5, 6

communication channel is defined as FAT gl SATAT 872

A) Modulation A) Hi=Lree

B) Signal to Noise Ratio B) &t = Ates w9aT
C) Frequency Bandwidth C) gt d=fasT
D) Channel Capacity D) =¥t Fuferer

53) The starting torque of a DC motor is independent 53) DC T FT T =T (79 | & o smrefia 872

of

A) Speed A) T

B) Magnetic flux density B) <@ FAFT TAA
C) Armature current C) = faea a1

D) Number of poles D) T it "/EAT
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54) The number of electrical degrees passedwhen 54) S TF F-AA FHET Aeaidey FT OqTH TH
the shaft of a four-pole synchronous alternator makes TRFHT I AT &, TS a1 Zelleehal (2UT &l 912 FT
a complete revolution is STaT g?

A) 360° A) 360°

B) 2160° B) 2160°

C) 720° C) 720°

D) 1080° D) 1080°

55) Which among the following hydraulic turbines is 55) 200 m & T F % IS IoF g2 & (o0 {AeferaT
used for high hydraulic head above 200 m? T H T3 BTgITorh aaie T ST AT SIrar g ?

A) Pelton turbine A) U ETETET

B) Fixed vein propeller B) fraes A TTueTT
C) Kaplan turbine C) FT=ATH XT3
D) Francis turbine D) Wifere axare

56) A power plant has a maximum demandof 15 MW. 56) T farstett &2 T e ™ 7197 15 §IT1e &, ATNS
The annual load factor is 50% and annual plant #T= %&e¥ 50% & < ATTUF 997 &H7ar 40% &, T4 i
capacity factor is 40%. The operating reserve sfrafest e emar (Res wafee) At 32

capacity is

A) 6 MW A) 6 MW

B) 3 MW B) 3 MW
C) 3.75 MW C) 3.75 MW
D) 7.5 MW

D) 7.5 MW
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57) How many total links are required to connect 57) T A%g & S[E Wl Aea % [T 12 RATH Frde F

12 devices in a fully connected mesh network? = e o it srae T 872
A) 144 A) 144

B) 66 B) 66

C) 72 C) 72

D) 112 D) 112

58) According to Barkhausen criterion in positive 58) wifstfes Fizas® TIq®ER ¥ T¥@®" TWes &
feedback ampilifier, which of the following conditions AT, @Fe & TaT A7&H (ATTIL) AT TTH F3A 6
must be met in order to get continuous undamped ToTT ¥ & & FI= HT 9TAT T T AT AT ATRT?

output from the circuit? (STET av e FTF FT AT 3T AV TTeedT AT H
(where ay represents feedback factor and A, denotes =9TdT 3)

voltage gain)

A) avAs == A) av A ==
B) av A, <1 B) av A/ <1
C)avA/ >1 C)avA >1
D)avA, =1 D)avA =1

59) The ratio between capacity of Open-delta or V-V 59) #raq-=waT AT -t Fo=erT #iT amar (A= %
connection (of three phase transformers)and ZTHMHT F foI0) 3T TTaT-2waT Faerd it qWAT (A
capacity of a Delta-delta connection (of three phase ST ZTEHHT & foTW) % &= T AT AT 572

transformers) is

A) 57.7% A) 57.7%
B) 87.7% B) 87.7%
C) 67.7% C) 67.7%

D) 47.7% D) 47.7%
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60) A transformer originally costing Z 1,00,000 has a 60) T ZTE®TH ¥ fSE=t ARTa € 1,00,000 § 3EEHT STARM
useful life of 16 years. If the scrap value of the FHTHTHT 16 AW §l ATE ITHLT FT AATIAT (ThT) T T

equipment is ¥ 20,000, the annual depreciation 20000 &, ATHTE AT (T ATEA) TEAZTH (T8 T ITART
expense using straight line depreciation method is T ST ATOF LSRR = AT BT ?

A) Z 4000 A) Z 4000
B) % 4500 B) ¥ 4500
C) Z 5000 C) Z 5000
D) % 8000 D) 2 8000

61) High speed alternators are generally termed 61)3g A ATETAT HIATHTI AL IL ZaT ST T Fgl

as turbo-generators. They are characterized by STAT 3l ST [HarwaTy A7 52

A) large diameters and small axial lengths A) TE =T ST G T Fars

B) short diameters and small axial lengths B) ®iIe =T\ T et st aas.
C) short diameters and long axial lengths C) Fie =T i< et arefiy Fars

D) large diameters and long axial lengths D) = =ATH 3T FaT erefi s

62) Article 40 of the Indian Constitution enshrined 62) 57 & Hifa fH&er® Tt F q8q ST A=A
under the Directive Principles of State Policy deals #|faam T siq=wz 40 Fwfoea & & & &er &

with which of the following options? qarea g7

A) Uniform civil code for the citizen A) TR & ToTT FHTH AT | edT
B) Organization of agriculture and animal husbandry  B) TS S 9T FT ST

C) Equal justice and free legal aid C) FHTA T AT 79 FIIAT qZ1=FaT

D) Organisation of village panchayats D) I Y=L T TS
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63) In 8051 microcontroller, 16 bytes of address 63) 8051 WTEHEEIAT ¥, 16 AT=ed * AT TH ST
space from byte addresses of 20H to 2FH serve the =T 20H & 2FH T & aT3e S3H & a9d &, Mo erEd o &

function of TN T XA 57

A) Register Bank 2 A) ISFET §F 2

B) Stack memory B) T THIET

C) Bit addressable internal RAM C) fare sigaaer Sava<r RAM
D) Scratch pad RAM D) &= = RAM

64) The full load torque of an induction motor does 64) T YT (FTHAF) WIeL FT FA AT Th(TATLE) 8
NOT depend on | 7 e o2 T 951 mar g2
A) Flux produced by the stator

A) T ETT ST Folsr
B) Rotor current per phase B) Wi et Te Erea o

C) Rotor power factor C) TreT qia% FFew
D) Whether it is a squirrel cage or a slip ring type D) g &<t e & AT T e ety

65) Suspension of enforcement of Fundamental 65) WTEATT HFUTT FTET ATATAHTA T IZTOOT F T2
Rights after proclamation of Emergency is upheld WYTers SITEERT & TaAH &1 e S gl g T
by the Indian Constitution. This provision is borrowed 3 Zer & fer@TTATE?

from:

A) Japan A) STaT

B) Germany B) STHHT

C) South Africa C) =feror spfirr

D) United States of America D) &I Y AWLHT
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66) Which of the following special function registers 66) 8051 HTZHIFZIAT & TIAT FFT Tore=<l ¥

of 8051 microcontroller is bit addressable? ot # & %19 471 e Jgaaa 5?
A) TLO A) TLO

B) TMOD B) TMOD

C) SBUF C) SBUF

D) TCON D) TCON

67) Scott-T transformer connection is used for the 67) &\ Fqia<or % &0 Thie-F1 TTAEHUT FAFIT T

conversion of YA AT SITaT 87
A) Three phase to single phase A) T T T TF FeT
B) Single phase to two phase B) U= ST 7 &T el
C) Single phase to three phase C) T %S & A1 T
D) Three phase to two phase D) == T & &7 T

68) A DC shunt motor runs at 500 rpm at 220 V. A 68) T# DC ¢ @< 500 rpm 9% 220 V 9% |t &
resistance of 9 Q is added in series with armature for =&t T FT F= T 27 F U aE=R F AT HEOT T 9
speed control. The armature resistance is 1 Q. The Q FT YL ST SATAT g1 TH=L T2 1 Q g A=< FI

current to stall the motor will be FE FOA 6 10 T2 T 47 gRir?
A) 24.4 A A) 24.4 A

B) 22 A B) 22 A

C) 244 A C) 244 A

D) 220 A

D) 220 A
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69) The frequency of voltage generated by an 69) 4 9= ST 750 rpm IO FId AT ATETAET G
alternator having 4 poles and rotating at 750 rpm is ~ Seas Freest it Argf=r (hrg=T) At 52

A) 16 2/3 Hz A) 16 2/3 Hz
B) 25 Hz B) 25 Hz
C) 60 Hz C) 60 Hz
D) 50 Hz D) 50 Hz

70) A DC series motor has 0.5 Q resistance between 70) Ts DC S@@T ¥Te? & =fHaer F = wa<ra 0.5 Q B
its terminals. It runs at 730 rpm while taking 20 Afrom 300 V sq{d & 20 A &1 §T I 730 rpm 9% =TT 81 7T

300 V supply. Assume there is no saturation. What is = T &= S (F=9) T51 5| ST AT & Faa 10 A

the speed at which it will run when taking only 10 A & 9% g W< faaet T I Feii?
from the same supply?

A) 365 rpm A) 365 rpm
B) 730 rpm B) 730 rpm
C) 1440 rpm C) 1440 rpm
D) 1500 rpm D) 1500 rpm

71) In engineering drawing, which of the following 71) SSiA=RaT T ¥, TRTw-TT== FH=FTE T TIRT 2
solids/surfaces are well-suited for employing radial- & T MHITET ® | F19 AT S16/A08 STIF 672

line development?

A) Cylinder and cube A) TAATHTT ST FIT
B) Cube and pyramid B) #g& ¥ fawriws
C) Cone and pyramid C) oi% 3= fo=rtoe

D) Cone and cylinder D) 7% i< =TT


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

72) An electric motor consumes 100 watts of 72) W% fE=[a #ie¥, 90 ATH AT oT<F STH FIA & o
electrical power and converts to 90 watts of 100 FTeH A=A oTf<F FT TIAT FIAT 5| FIeT il FeAdT F4T

mechanical power. The efficiency of the motoris g7

A) 60% A) 60%

B) 50% B) 50%

C) 90% C) 90%

D) 80% D) 80%

73) Figure of Merit of a Galvanometer is defined as ~ 73) fearHie< & fre attw e =1 e s airioe

ERUSIEIE-Y]

A) The current required in producing a unit deflection  A) feaTHET & T T T [HEqor & Soai<r ¥ M99
in the scale of the Galvanometer e

B) The deflection produced when a unit of current B) eaqIHIex & WTEAW F F(Ae Fic oA 9 MHT
passes through the Galvanometer reraor

C) The deflection produced when a unit of potential C) e fFreraur sta fea=rdie & B % &= v T9s
difference is applied between the ends of a [ERIEIEECIUNERIS I
Galvanometer D) T TH ey F Shel § U [Ferqur % Icaid § ATT9TF

D) The voltage required in producing a unit Tre=ar
deflection in the scale of the Galvanometer

74) Mechanical energy is supplied to a DC generator 74) 4200 J/sec F1 2% & DC ST &l Hepfeet HoTT ot
at the rate of 4200 J/sec. The generator delivers 32.2 STqr it STT g1 e 120 V 9% 32.2 A faata wear

A at 120 V. The efficiency of the generator is g STYET T =erdT a1 5?2
A) 75% A) 75%
B) 62% B) 62%
C)81% C)81%

D) 92% D) 92%
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75) Read the following statements with respect to
advantages of Negative feedback in an amplifier and
choose the CORRECT option?

Statement I: Negative feedback increases the input
impedance of the voltage amplifier

Statement Il: Negative feedback causes reduction in
noise
Statement Il Negative feedback decreases the
frequency response and the bandwidth of the
amplifier

Statement IV: In comparison to transfer gain of an
amplifier without negative feedback, transfer gain of
an amplifier with Negative feedback is higher

A) Statement I FALSE, Statement I FALSE,
Statement lll: TRUE, Statement IV: TRUE

B) Statement I: TRUE, Statement I TRUE,
Statement lll: TRUE, Statement IV: FALSE

C) Statement | FALSE, Statement I TRUE,
Statement lll: FALSE, Statement IV: TRUE

D) Statement . TRUE, Statement I TRUE,
Statement lll: FALSE, Statement IV: FALSE

GET IT ON
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75) UF TFRAHER § A¥fed FEaT & HFEl & g9y
H oot o 92 o Jat faseT 94

FAT |; A Tea BT ST THe TR 61 5qE Traarer
(TFfte=) FragTdt g

FA |I: Ao wsa® W (qisw) § FH AT 8

FA Ill; AT Fr=a S ST 3 TR Th A
JeEETFAFATS

FATIV: AT T T gd T TEIA I o Ja<0T ATH
ETEET M) HT AT |, AW FEdw ITF TE
TTIATHRTIE T ST ATH ATF &

A) FAF | T, FAT |l T, T M TEF, FA7 IV q=@g
B) o |: &&T, F4 II: T, 7 lI: T8r, FI7 IV: T
C) F4 | &, F4 II: |&r, 74 T, F4 IV: Tt
D) o |: F&t, 747 Il F=F, F4 Il T, 79 IV: T
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76) Which of the following statements is/are TRUE 76) Rafori®a & & i T1/A T UHeT BT S T2

regarding comparison between three phase induction 3T F1H-sT S=TFAT HIeT F S AT % G § Tal 572
motor and single phase induction motor?

(i) Three phase induction motors are self-starting (i) T T TTF AL EHT T TAAT 31 &

(i) Power factor of a single phase induction motor is (i) T ST STHAT HIET FT (AL T IHT LT % d14-
lower than that of three phase induction motor of the =T Z=FH AT F TAFTH FH &

same rating (iii) T ST SS9 Tl § UF G TATLI 24T 5
(iiy Three phase induction motors have uniform (iv) THFAT &S T=HFME el 6 AT ® dF 6T
torque TTHNA TIEH Hl AT F=oFeT ATHYUT T ATTITHAT grar

(iv) Three phase induction motors require more g THTAT, FT FoT STHAT WIEH ATATHT Tl 2|

conductor material compared to a single phase

induction motor. So, three phase induction motors are
relatively expensive.

A) Al (i), (ii), (iii) and (iv) A) J (i), (i), (iif) 3 (iv)
B) Only (ii) and (i) B) ¥ (i) =i (iif)

C) Only (i), (ii) and (iii) C) = (i), (i) = (i)

D) Only (i), (iii) and (iv) D) = (i), (iii) 3 (iv)

77) If a copper wire was wrapped around the earth 10 77) 39T% 2T 3 =T AT T q1e 7 AT 10 T AU ST

times it would take how many seconds to turn the light 3T 9T 3 Y FI¥ I8 AT A B4 § (hd« Hoh0E 91?2
on at the other end?

A) 0.5 sec A) 0.5 8=
B) 2.5 sec B) 2.5 &%=
C) 1.3 sec C)1.3%%=

D) 1.5 sec D) 1.5 &%=
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78) Read the following statements with respect to 78) EITeT At T AFeraT & FTLON & Haer § fHwferaT
causes of failure of heating elements and choose FT T U2 ¥ Tat 3T |

the CORRECT answer. i) SREEAT * FHTT F7 g5
(i) Embrittlement leading to grain growth (ii) AT T AT THLOT
(i) Oxidation of element (iii)) ETeoTTeT T T

(iii) Formation of hotspots (iv) FOT 3T =T

(iv) Contamination and corrosion

A) (i) and (ii) only A) F=T (i) 3 (i)

B) (i), (ii) and (iii) only B) ==t (i), (i) <0 (iii)
C) (i), (ii), (iii) and (iv) C) (i), (i), (iii) 3 (iv)

D) (i) and (iv) only D) 3=t (i) 3 (iv)

79) A lamp emitting light uniformly in all directions has 79) &<t fEeTTs & TWTH ¥ & THT1T S AT T2 AT AFT
amean spherical candle power of 15. What will be the #T ®1= Tfiaer T2 9ia< 15 &1 T4 fEemet & a7 7
total luminous flux radiated by the lamp in all TETREIOTT SERTIT T FT AT FAFT FAT SRIT2

directions?

A) 18.85 lumens A) 18.85 AT
B) 188.5 lumens B) 188.5 7@+
C) 31.42 lumens C) 31.42 7q#+
D) 314.2 lumens D) 314.2 73+

80) An op-amp uses differential amplifier at the input 80) TF op-amp TATE =X 4% TAHE THATHRET &1
stage. Base currents of the two emitter coupled IT=NT F¥AT gl FFHE THEATHERT * &7 IS JRAT
transistors of the differential amplifier are 20 YA and (THeT F9ee) Ziowes & a9 T aTU 20 pA 3iT 22
22 PA. What is the input bias current for the op-amp? pA g1 op-amp F T 39 139 Fie FAT 5?2

A) -2 yA A) -2 yA
B) 21 YA B) 21 PA
C)-21 pA C)-21 pA

D)2 uA D) 2 pA
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81) In power electronics, for series and parallel 81) 9TaY TorFei=ead W, ATSEH & AU ¥ TUEAT
connection of thyristors, reliability of the series and F==er % forw, Soft siv awE= Fer & Fegesiear
parallel string is measured by de-rating factor (DRF) (Rem=afaterdt) &t E1-31e1 wFex (DRF) gT=T W4T SATAT 8

which can be expressed as

A) DRF = 1 - string efficiency
B) DRF = 1 + string efficiency
C) DRF = (string efficiency)?
D) DRF = string efficiency

SE e a &0 =7 § =< FaT S a9ar g2
A) DRF = 1 - string efficiency

B) DRF = 1 + string efficiency

C) DRF = (string efficiency)?

D) DRF = string efficiency

82) Bundled conductors are used in Extra High 82) s=vs ®Eaed &l &I 1 EHV ZHHAR ATSAT

Voltage (EHV) transmission lines primarily to

A) Reduce cost of transmission lines
B) Improve voltage regulation of transmission lines
C) Reduce copper losses

D) Reduce corona losses

83) Load factor in an electric power system is defined
as

A) the ratio of the average demand to the maximum
demand

B) the ratio of the maximum demand to the
connected load

C) the various peak demands of load over and above

the base load of the station

D) the unvarying load that occurs almost the whole

day on the station

o for s e ST 22

(THRET-ETR-ATees i EHV % =7 # forar = g)

A) AT ATZAL T AT 7 e % for

B) T AT+ & ATeedT M= | g & forw
C) F1IT TH &l FH FTA 5 (10

D) LT ZTH F FH T & [

83) A= 9Ti=F TOTTeAT § AT e 1 (o6 =9 | Trsg
AT STaT 82

A) STET TR & ATAHAT T T SATATT

B) SATEFHaH W1 & Firlde S AT FT AT

C) AT F 97 AT & AT, AS F (AT ATIHTH
(=) W

D) AT AT ST T T AN T & TA7 T8am
7
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84) Two voltmeters have the samerange 0-400 V and
have internal impedance of 30,000 ohms and 20,000
ohms respectively. If they are connected in series and
600 V is applied across the series circuit, the
voltmeter readings are

A) 400 V and 200 V

B) 300 V and 300 V

C) 360 Vand 240 V

D) One of the meters is out of the range and the
other is 100 V

85) What is the value of a of the transistor shown in

the given figure?

I

Iz =200 pA

R — [} =49
'l =10mA
|

A) 0.1

B) 0.52

C)0.98

D)0

GET IT ON
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84) a1 Ae=H 12T UF &1 357 0-400 V F & 3% 7T i RF
giaETaT (3eear zfaEe) 30,000 ohms ¥ 20,000
ohms gl afE T HHT § J= gC & T 399 IIF
Fre=aT 600V B, A1 Freadtex G Fm 2efi?

A) 400 V 3 200 V
B) 300 V 3T 300 V
C) 360 V 3T 240 V

D) T Wie 35T | dT8< FIT ¥ ga<r &7 (=7 100 V
R

85) &T T ATHT § ZISeT & o FT AT FATE?

B =49

Yi.=10mA

A) 0.1
B) 0.52
C)0.98
D)0
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86) Pin number 29 of 8051 microcontroller is Program 86) #Tzwarax 8051 &7 fud Fax 29 IUTH =R

Store Enable, itis an THEA B, ST % T

A) active high input signal A) TTET g% 399e e g
B) active high output signal B) Ui BT< A3 e Fua 5
C) active low input signal C) Tfaea @l z°Ye A g

D) active low output signal D) Uftea &7 A3 qe Aaa g

87) Which Fundamental Right ceased to be a 87) AT GTALTH F 447 HMIT o T8 FI7 F WI{H

Fundamental Right and became a legal right under STTerFTZ T FTIAT AT F T § TRATAT THAT AT AT?
the 44th amendment of the Indian Constitution?

A) Right to Property A) TafT =1 AferrTe
B) Right to Primary Education B) wrertara: fovert =1 arfersrme
C) Right to Information C) F=AT FT ATFT
D) Right to Life D) S = srfarTe

88) In AutoCAD drawing using Absolute Coordinates, 88) TH¥mer =er= (TsH e FIATEA=H) FT ITANT FT

the number of points needed to draw a line is TU aterhe (AutoCAD) ST H, 3@T Fi= & T saeas
ST AT HEATS

A) Zero A) T

B) One B) =

C) Two C)ar

D) Four

D) 9=
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89) In transmission lines, variation in voltage at the 89) #=Zur @rzAT ®, WA T W Aeeard gfeaas
receiving end, expressed as a percentage of full load =T, STTH T 9 QU AT ATeedT B ATA9TaaT  F9 § =4
voltage at the receiving end, when full load at a given T STaT g, & T T T 9m@< F#FeT & ATT I90r
power factor is removed with voltage at the sending &Y% FTeedT FT A7 T T T (FA) AT FT 2T (&30
end being kept constant is called: STTAT, TH F3T FaT AT 872

A) Voltage regulation A) TS WA
B) Load regulation B) &= WEre
C) Shunt regulation C) gt W=

D) Current regulation D) F¥re WA

90) To prevent tranformer fault and accidents, under 90) |THT YR=TAR FAAT ¥, ZEHET = T
normal operating conditions, secondary winding is FHEATSN & T % 1T Fal AT ATSISIT KT AIAT 911

kept nearly short circuited in Tiehe | TET ST 52
A) Power transformer A) ITET TR

B) Current Transformer B) <= TTEHHT

C) Distribution transformer C) RETsge™ STaHHY
D) Potential Transformer D) TrE it STewrHT

91) An oscillator that uses a pair of tapped capacitors 91) T Z(TeT (ATEE) ST Frga deaw | 180° FTeear
and an inductor to produce the 180° voltage phase ST THFITHT FT SedTa FF & (oT0 €T HTHR (FUHE)

shift in the feedback network is FT TF STET ST UF IF (329Fe7) FTSTAN FATE, T5 S

A) Colpitts oscillator A) FCIEH AHAET
B) Wein-bridge oscillator S EIREEEE I EEA
C) Hartley oscillator C) gTeet ArHeex

D) Phase shift oscillator D) T foree smeetex
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92) A three phase 4-pole induction motor runs at a 92) U= 19 %sT 4-T11 I¥0T (3=F99) H1=x 500 V, 50
speed of 1440 rpm on 500 V, 50 Hz mains. The Hz & & Mg 9% 1440 rpm #T T & T4 5| T
shaft power developed by the motor is 20.3 HP. The FTT A omwe o<k 20.3 HP 31 Toff (Teer=ar) g
rotational losses are 2.23 HP. Assuming no copper 2.23 HP ¥ 7§ WTHA gU % aTH 519 T8l &, {1 T @&dr

losses, the motor efficiency is A g2
(Assume 1 HP =735.5 W) (1 HP =735.5 W)
A) 85.5% A) 85.5%

B) 90.1% B) 90.1%

C) 86.5% C) 86.5%

D) 88.7% D) 88.7%

93) The other termused in power electronic 93) =T FZrear ® 'Fiveee Higa! o' % forw faegm
converters for 'Constant frequency systems' in Tl Fracd B SEAHTA (HAT STTH ATAT ZHT M58 H I

Chopper control is arg?
A) Pulse amplitude modulation scheme A) T TTFTes Ais e &
B) Pulse width modulation scheme B) U A=y Aiswae &6 H
C) Current limit control C) e ferftie st
D) Frequency modulation scheme D) TheT wisrer &
94) Article 360 of Indian Constitution deals with: 94) ATATT FTAETH FT A== 360 FFas qataa &
A) National emergency A) T AT
B) Financial emergency S RERIREIRIEEIE]
C) State emergency C) =T ATATAHRTA

D) Constitutional emergency D) AT ATATARTT
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95) The resonant frequency of quartz crystal oscillator 95) FTest feea sfteiere T SATEr AT 450 kHz 3

is 450 kHz. The equivalent inductance and series SATET AER T TEANH HA  (T=ded) W
resistance at resonant frequency are 4.2 H and 9050 &< Wia=rer FHT: 4.2 H 3w 9050 ohms &) e=ar =

ohms respectively. The quality factor of the crystalwill ToTE=T FTF (FTIAET FeFe <) FAT HaaT geTT?

approximately be
A) 743

B) 1312.7

C) 1449.5

D) 1093.00

A) 743

B) 1312.7
C) 1449.5
D) 1093.00

96) In OSI model of computer networks, the key 96) Fe< d=a= % OS| A=A |, T (ISIAT) TIAT FT

functions of presentation layer is

A) File transfer and Access

B) Resynchronization

C) Data encryption and compression

D) Error detection and recovery

97) The percentage reactance of a circuitis defined
as

A) The percentage of total phase voltage leading
total load current

B) The percentage of total phase voltage dropped in
the circuit when full load currentis flowing

C) The percentage of total phase voltage lagging
total load current

D) The percentage of total phase voltage dropped in
the circuit for no load condition

TATAE

A) T TITATAL Y Tg ()
B) qEHFTe (T SeT)

C) ST UFHTaI ¥ HA TS (FHILr)
D) e =T 9qT 7T 3 Fawas

97) w= Tfhe i gfaeraar sem (wies Suwer) B

T H T 63T ST 8?

A) T T ATt 6t AAATAT ST FeT ATS (o2 g |
FATHT E

B) T IS Fic TATed aF T¢ AHe § T ol Alees
1T Y aferaar

C) e T FATwesT Al Tl ST F AT (9= grer &
TENTHT &

D) g7 == & Rty & forw af e ¥ 51 %7 Aeesr M
£ afersraar
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98) Using the Multiline Text editor of AutoCAD 2012, 98) AutoCAD 2012 F HTdITE 23 TTEa¥ FT IUFNT
we CANNOT: T, B0 FAT A1 FF qhd?

A) Insert numbered and bulleted lists A) % 37 Feres foree afeEe w7

B) Insert pictures B) =t v afarfas swar

C) Create Fields such as date, time and author C) &, ™ 3T Fa+ S Hies 9T

D) Insert specific drafting and engineering symbols D) frare ST=aon 3 SSia=tar Tt f Tii=as Fr

99) A lamp of 75 W, emitting 950 lumens uniformly in  99) |<{T fEemrst § &9 =7 & 950 THT IcaTSId F
all directions is placed in a frosted globe of 30 cm =T 75 W & TF &7 &1, 30 cm =TT % a5 (Shiees) W
diameter. The lamp gives uniform brightness of 250 ® ¥@T AT §| IE AT T fFermms ¥ 250 HAt-# wia
mili-lumens per square metrein all directions. AT FHT THTT THTLT AT G| TAT FTIT AFLATTUT STHTLT

Percentage of light absorbed by the globe is T ITALTT T ZRIT?
A) 50% A) 50%

B) 25.6% B) 25.6%

C) 75% C) 75%

D) 100% D) 100%

100) Each of two electric heaters has four heating 100) & Zeifere ae<i 8 & T4 | 50 Q FHAZre F =AW
elements of resistance 50 Q each. In the first heater, FTeT aca 81 T8 BT |, ATT BT dcd HEITH [ g0
four heating elements are connected in series. In the 2, TAY &2 |, FIET dc7 AHTHIAL AZ g0 &1 TIF alex
second heater, elements are connectedin parallel. T T=TE ATeest 400 V B 9T, T8l 3T TAL &leT i
When supply voltage of each heater is 400 V, the rate FT<T & W H AT 3T FHLT: FIT g2

of heat in calories per second of the first and

second heaters respectively, are (15T = 4.2 A % A T)
(Consider 1 Calorie = 4.2 Joule)

A) 3047.6, 190.5 A) 3047.6, 190.5
B) 190.5, 3047.6 B) 190.5, 3047.6
C) 800, 12800 C) 800,12800

D) 12800, 800 D) 12800, 800
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Question Paper No 51977_22

Answer Keys

1. B 31.B 61.C 91. A

2. B 32.B 62D 92. C

3. D 33D 63.C 93 B

4. A 34 B 64D 94. B

5. A 35.B 65.B 95 B

6. C 36.D 66.D 96. C

7. D 37.C 67.D 97. B

8. D 38.D 68.B 98 B

9. A 39.D 69.B 99. B

10.B 40.D 70.C 100.B

11.B 41.D 71.C

122A 42.B 72.C

13.B 43.C 73. A

14.C 44.B 74.D

15.D 45.C 75.D

16.D 46.A 76.C

17.B 47.C 77.C

18. A 48.B 78.C

19.D 49.B 79.B

20.B 50.A 80.B

21.B 51.B 81. A

22.C 52.D 82.D

23.B 53.A 83. A

24 A 54.C 84.C

25.B 55.A 85.C

26.A 56.C 86.D

27.B 57.B 87.A

28.A 58.D 88.C

29.D 59.A 89.A

30,A 60.C 90.B
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